Decimals

Page |Description
1 |Order decimals, fill in missing numbers in decimal number sequences
2 [ldentify decimal on a number scale. Count on to find an addition
3 |Addition
4  |Subtraction
5 |Multiplication and division
6 |Multiplication
7 |Multiplication and division
8 [Sequences, scales, adds, takes, times and divides
9 [Ordering, adds, takes, times and divides
10 [Dividing by a decimal
11 |Decimal to fraction conversion including recurring decimals
12 |Decimal to fraction conversion more difficult recurring decimais

13

Mixed exercise




Decimals
1 Highlight the largest number

’ 0.4 0.3 0.8 1.2 0.7
2 Highlight the largest number

0.42 0.4 0.3 0.5 0.2
‘ 3 Highlight the largest number

0.41 0.45 0.04 0.402 0.4

Fill in the missing numbers

0.6 0.7 0.8 0.9 o) RN

Fill in the missing numbers

0.3 0.4 0.5 0.6 o) (o

Fill in the missing numbers

1.5 1.6 1.7 1.8 1-4 20

Fill in the missing numbers

011 012 013 014 [Os [ o186 |

Fill in the missing numbers

0.25 0.26 0.27 0.28 ol291030

Write these in order of size, smallest to largest

0.4 0.3 0.12 1.2 1.01

[o12 o3 oy 161 ] 12 |

Write these in order of size, smallest to largest

0.3 0.32 0.03 0.2 0.23

603 o0c2]0623|]03 |ol32
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Decimals - Add, take, times and divide

Adds (line numbers in their columns)

10 1 0.1

0.01

1)8+06

N O o0
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10 1 0.1

001

2)03+08

10 0.1

[SEN

001

3)12 + 086 K

[\

, 0

- Nl of -

4)12+82+08

5)0.38 + 6 + 0.04

6)008+122+08
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Multiplication

11)3x04 |2 3x4:=-12

12)6x03 'S gx3:-18

13)5x 04 2
14)04 x7 2'8

15)06 x8 u§
Division
16)32+4 0§ 32+4:=38
17)12+4 03 12+4=3
18)25+5 OFS
19)24+8 03

20)36+6 06

o

ooy ]
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15

20

30

40

45

50 |
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Qu.1

4x8
40x 8
40 x 80
04x8

Qu. 2

3x7
3x70
0.3x7
0.3x0.7

6x7
6x70
~60x70
6x0.7

Qu. 3
|

Qu. 4

2x9
0.2x9
2x0.9
0.2x0.9

Qu.5

4x6
0.4x6
4x0.6
04x0.6

1000 | 100 10 1 0.1 | 0.01 | 0.001
3 | 2
3 2 | O
3 (2 o O
3 y B
1000 | 100 10 1 0.1 | 0.01 | 0.001
2 |
2| | |O
2 {
0o 2 {
1000 | 100 10 1 0.1 | 0.01 | 0.001
b |
L | 2|0
L L 1o | O
4 A
1000 | 100 10 1 0.1 | 0.01 | 0.001
1| 3
l Q
) 8
) | | ¥
1000 | 100 10 1 0.1 | 0.01 | 0.001
2 4
2 L
2 &4
/) 2 | &4




Decimal Multiplication
1)08 x 3 24
2)6 x0.7 4-2
3)02x07 ©O%
4)004x06 O O02%
5)60x 004 2%

6) 700 x 0008 S6

7)23x8 184
23x38 - It

8)64x28 V1-92
6428 = 119t

9)26 x027 7-02

26%x27:= 762

10) 0.26 x 057 = O~ 4&2
16x31= 1462

23 64

x§ 1
)g_q-

512

128©
R

11a*

3x4:=12
30 x4 =120
30 x 40 = 1200

3x4:=12
03x4:=12
3x04:=-12

03x04=012
003 x04=0012

3x4= |2

30x04:=12
300 x 0004 = I'2

I x[1]2]3[4]5]6[7][8]09 10}
11/1]2]3]45]6|7]8]|9]10]
12]2]4]6]|8][10]12]14]16|18]20]!
1 3[3]6|912]15]18]21]24]27]30]

4 4]8/[12]16]20]24]28]32]36]40]

5| 510|15(20|25|30|35|40|45|50 !
| 6] 6|12]18]24]30]36|42|48|54|60];
{71714 21]28|35|42|49]56 63|70}

8| 8[16]24]32(40|48|56|64|72|80}
| 9| 9 |18]2736|45|54]63]72] 81|90}
110{10{20(30/40|50{60|70|80|90|100¢

Decimal Division
1)24+4 = 06
2)32+8 = o4
3)42+6 = o1
4)14.1+3 =47

P-) .

3}:'4-‘“:t

5125 +5 2’ s
Sl
6)72+6
6)7-'2
7)9.6‘3'6—‘_:_?_/
6)q%

8)238+4 jc.95

) 23 8%

9)0135+5 .
SYo IS

10) 0.054 +3
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Decimals
1)Addon04 03,07 -t Is 19
2)Addon06 07,13  2-0 2-1 23¢
3)Addon08 05, 13 , 2\ 21,6 27
4) Takeoff 03 22, 4 16 113 1
5) Take off 06 31, 25 , 14 113 o1
6) Take off 07 44, 3:1 , 3  2-3 1K

Work out the answers to

7)48+31= ]9 11)54-23 = 31
8)40+18:5-8§ 12)42-15 =2-1
9)34+19 =51 13)50-27=2-3
10)76+75 =151 14)30-16 = 1%

Write down the number the arrows are pointing to
2:\ 26

o | |

16) lw lu-s
|

42 45 49
ool o-e§
no L
Y I N SO I O ||
1 T T T -
0 0.03 0.07 0.1
18) Work out the answer t0 8 + 1.6 + O.9S ,8 ¢
= (o _
19) Write down the 0.3 times table. +o9
1x03= 03 6x03=1819"
2x03=06 7x03 =2
3x03:0q 8X0.3=2"t
4x03=1l-2 9x03=21
5x03=1% 10x03=1
20)6 x03 I 24)12+03 %
21)7x03 2-| 25)15+03 S
22)03x8 24 26)24+03 3
23)9x03 2-7 27)09+03 7

28)08 x4 29)12 x 3 30)24+6

32 3-6

o4



Decimals

Put either > or < between these decimals

1) 023 > 0.02 4) 0254 < 08
2) 0101 ¢ 0.11 5) 0.623 < 0632
3) 0202 > 0.022 6) -1.01 < 0.101
Addition to:lg q-9
2'58 + o.qq
7) 2.3+0.28 9) 99+9.9+0.99 |5 q'.s q
. {
8) 1.1+0.101+0.1 ‘l)_:o‘ 10) £5.23+68p+7p 5.‘23
+ O0-} tS'. q‘@ (4] ‘6%
{-30\ or gqg (o Ry &)
Subtraction \ P 5§98
‘0"5.3 1, |
1) 53-25 .75%.s 13) 2-0.58 b2 %6
75 "oS8
12) 14-08 14) 0.1-0.01 T
A o4d'o
Multiply and divide by powers of 10 o6 9
15) 023x10 23 18) 53+10 O'S3
16) 50.3x100 So3o 19) 425+100 &4-2F
17) 0.025x 1000 2Y 20) 12.3+1000 o©-ol2]
Multiply
21) 03x7 2-| 24) 23x7 &
22) 4x08 3-2 25) 63x4 i¥2
23) 06x08 o0& 26) 57x5 8%
Division
27) 322+7 = &6 29) 0.464+8 =0O-OS¥
28) 1482+6 = O'247 30) 02115+9 = ©0°0233

@




To divide by a decimal, multiply BOTH numbers by powers of
10 to remove the decimal from the number you are dividing by.

4.2 + 0.06

x1ool l x100

420+ 6
= 70  Note: you don't undo the x100
0-2
1) 0.008 + 0.04 4Yo B 6)54 +0.12
xteo |} J Xtoo X'GOJ' S¢00 X100
0§ Tu 12
2)0024+ 04 006 7)858 + 11
x?o\\. v10 ’-(-)O'Z; no Jree
02ty gs-¢- 1\
3)3.2+ 008 yinr) 8) 804 + 0012 vio
o] Lo gptd sowo 1pp Y
320
4)042:0006 070 DG xo
Yoo, x1eoo gyuho 24l 17
4w -6
5 56 + 0.08 10) 95.2 + 0.17
' (60
X100 |, \wao )2?7_9_0, ot |, b X
8 (e, o
S600 = 8 © asio - U7

ok SO
12y s« o

07-%

Ny &%
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00 12) 8fuoo

023
17) 333
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Writing decimals as fractions

For terminating decimals, remember the column headings after the decimal point: tenths,
hundredths, thousandths etc.

0.3=i 0.47 = A7 0.367 = 367
10 100 1000

For recurring decimals use the following rules
If the recurring part is a single digit e.g.0.222222....= 0.2, the fraction is over 9. 0.2 =—§—

If the recurring part has two digits e.g.0.292929....= 0.29, the fraction is over 99. 0.29 = %g-

If the recurring part has three digits e.g.0.234234234...=0.234, the fraction is over 999.
234
999

0.234 =

And so on.

Exercise 1

Write these decimals as fractions, cancel where possible

Zz =1 T W
1)0.2 = = 6) 0.4 /q
.. é
2)024 =24 = & 7 0.26 %4
{60 2y
3)0.74 =% - 27 8) 0.396 336 - Ly
(60 <o 49 1y
4)0.325 = 325 . 13 9) 0.3 = 3/q> '3
X-Y-18) 4o
5124 = | 2¢ . |& 100027 = X = 2
loo Ly 1 R
or 31
2§



When a recurring decimal is not of one of these forms you have to use a different method.

0.213 = 0.21313131313.....

Let X = 0.21313131313.........

Set up a subtraction involving multiples of 10 of X such that the recurring part of the numbers are line up

X= 0-21313131313...
You can see that for 10X and 1000X the
10X = 213131313131 ... recurring part of the decimals (after the

100X = 2131313131313 -~ decimal point) are lined up
1000X= 213°13131313131 ...

Subtract these two

1000X= 213-13131 31

10X= 213131313131 ...
990X = 211

= 21

——— this is the answer (cancel if possibel)

990

the recurring digits after the decimal point all cancel

@ X=o0'12666 - - - -

Exercise 2 joo0X = 126:66 - - -
- 100X = 12-66 - -

Write these decimals as fractions, cancel where possible

qo0X =11y
1) 0.14 D xX= o 1%4en .. .. x= % = 12
100X = 1% - Lbk. .. (o) Y2
2) 0326 - 10X = (444 . .. @ Y=20533 .
qox = 13 100X = S3-33-. ..
: X= 13 - lox> $-33 ...
3) 0.126 -
) 10 aox = us
4) 0.53 ® X= 0°32626262%. . .. x= 48 = &
looox=> 326-2626 - . . . 0
5) 0.5247 T ___lox> 3-262 .- .. BGx=0'Sw124712%7 . - -
190X = 323 |OCOOX = 5247247247 - - -
x = 323 - loX §:247247 - -~
490 4290 X = 5240

X = Swer . 262l

@ 1410 4 qay




1)
a)
d)

2)

3)

4)

a)

5)

6)

7)

8)

Decimals

Give that 23 x 37 = 851, write the answers to the following

o -08st

"

23x37-85l b) 023x370-85-) ¢) 023x037
851-23 =37 e) 851-23 =37 f) 8510+ 037 = 23000

a) 9+004+087+03 = t1o-2] by 4-147 = 2-33
) 06x03 = o013 d 34x07 = 2-38
e) 24:004 =60 f) 93-18+0.3
=q-3-6
= 33
Write the following fractions as decimals
2 5 5 . 2 oAag
_:O “. b) —_ C) —_— :0'83 d) —_— = O ls
5 8 6
o: 0.6 1S 0:8333 1318 -
X 8y<Fo%0 6)50d0e |l)2 ic>‘oc>g

Write the following decimals as fractions, cancel if possible. X=0635- - -

¥ . . 33 -
0.8 b) 036 Q) 0.25 d) 065 _loex>€3-22 77

lox > 6 -

- W 36 ':j_ 25 qo0x >359
< 180 ¥ 99 x> 31
10

a)  One metre of cable weighs 2.8 kg. How much does 3.5 metres of cable weigh?
2:86x33° q-¢ k3
b)  Henry pays £1.88 for 0.4 kg of beef. Calculate the cost of 1 kg of beef.

1-88 *O¢ = 47 470
Paul had a £30 voucher to spend at a Garden Centre. He bought 6 rose trees costing

£2.85 each. He s'?em‘ the rest on bulbs costing 30p each. How many bulbs did he buy?
&x2-85= 1 30-17-10* £11-90 12-90+0'36 > 43 bolhg
Sally spent £24.18 at the DIY shop. She bought 0.6 litres of paint at £3.20 per litre,

5 coat hooks at £3.67 each at some screws. The screws were 17p each. How many
screws did she buy? Pl 06x30 = ti-9q2

2?7 =183
A can weighs 0.08kg, holds 0.6 litres of drink and costs £0.45. Hesks § x 361 1835

. = 9. Screws X 617 =
a) How much will 28 cans weigh? 28x0°08 = 2-2k kg W

b) How many cans are needed to provide 14.4 litres of drink? 2418 - 140 - 18735 = 34|

44 =06* 24 cod £31-9) 2 61N = 23

@ 23 screws




